This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 15 - Inverness Ness-side

4,068

1,018

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Alasdair CHRISTIE	Scottish Liberal Democrat Focus Team	1,739
Ron MACWILLIAM	Scottish National Party (SNP)	1,056
Feargus MURRAY	Scottish Socialist Party	64
Fraser PARR	Scottish Labour Party	377
Jean SLATER	Independent	255
Callum SMITH	Scottish Conservative and Unionist	577
	Total	4.068

Candidate Alasdair CHRISTIE Elected with 1,739 votes, being in excess of the quota of 1,018 Candidate Ron MACWILLIAM Elected with 1,056 votes, being in excess of the quota of 1,018

#### The Highland Council

# Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Alasdair CHRISTIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alasdair CHRISTIE	0	0.00000	0.00000
Transfer to Ron MACWILLIAM	0	0.00000	0.00000
Transfer to Feargus MURRAY	85	0.41460	35.24100
Transfer to Fraser PARR	388	0.41460	160.86480
Transfer to Jean SLATER	415	0.41460	172.05900
Transfer to Callum SMITH	413	0.41460	171.22980
Value of non-transferable ballot papers			181.60540
	Total		721.00000

This report contains the transfers results.

Stage 3 - Surplus of Ron MACWILLIAM

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alasdair CHRISTIE	0	0.00000	0.00000
Transfer to Ron MACWILLIAM	0	0.00000	0.00000
Transfer to Feargus MURRAY	174	0.03598	6.26052
Transfer to Fraser PARR	243	0.03598	8.74314
Transfer to Jean SLATER	285	0.03598	10.25430
Transfer to Callum SMITH	28	0.03598	1.00744
Value of non-transferable ballot papers			11.73460
	Total		38.00000

This report contains the transfers results.

Stage 4 - Exclusion of Feargus MURRAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alasdair CHRISTIE	0	0.00000	0.00000
Transfer to Ron MACWILLIAM	0	0.00000	0.00000
Transfer to Fraser PARR	26	1.00000	26.00000
Transfer to Fraser PARR	42	0.03598	1.51116
Transfer to Fraser PARR	34	0.41460	14.09640
Transfer to Jean SLATER	29	0.41460	12.02340
Transfer to Jean SLATER	78	0.03598	2.80644
Transfer to Jean SLATER	19	1.00000	19.00000
Transfer to Callum SMITH	5	1.00000	5.00000
Transfer to Callum SMITH	3	0.03598	0.10794
Transfer to Callum SMITH	4	0.41460	1.65840
Value of non-transferable ballot papers			23.29778
	Total		105.50152

This report contains the transfers results.

Stage 5 - Exclusion of Jean SLATER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alasdair CHRISTIE	0	0.00000	0.00000
Transfer to Ron MACWILLIAM	0	0.00000	0.00000
Transfer to Feargus MURRAY	0	0.00000	0.00000
Transfer to Fraser PARR	100	1.00000	100.00000
Transfer to Fraser PARR	186	0.03598	6.69228
Transfer to Fraser PARR	119	0.41460	49.33740
Transfer to Callum SMITH	64	1.00000	64.00000
Transfer to Callum SMITH	74	0.41460	30.68040
Transfer to Callum SMITH	25	0.03598	0.89950
Value of non-transferable ballot papers			219.53356
	Total		471.14314

This report contains the transfers results.

Stage 6 - Exclusion of Fraser PARR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alasdair CHRISTIE	0	0.00000	0.00000
Transfer to Ron MACWILLIAM	0	0.00000	0.00000
Transfer to Feargus MURRAY	0	0.00000	0.00000
Transfer to Jean SLATER	0	0.00000	0.00000
Transfer to Callum SMITH	268	0.03598	9.64264
Transfer to Callum SMITH	197	0.41460	81.67620
Transfer to Callum SMITH	168	1.00000	168.00000
Value of non-transferable ballot papers			484.92634
	Total		744.24518